: Attempt all questions.
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. ' Objective Type Questions 1x10=10
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Choose the correct answer :
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Controllable cost is .
(a) Variable cost
(b) Fixed cost

{c) Semi-variable cost

{d) None of these
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Under machine hour rate method a
machine is Ireated as
(a) Cost unit

{b) A cost centre
(c) Service department

{d) None ot these
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In services industries costing s applied :

(a) Unit cost

(b) Contract cost
(c) Operating cost
(d) Process cost
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{d) Trading and Profit & Loss A/c
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Which of the following items is not
included in Cost Accounts :

(a) Interest on investment
(b} Dividend paid
(c) Interest on debenture
{d) All the above

afe faea gea 50,000 2 ufiadaeie mmma
30,000 ¥ vd FRR @ma 10,000 T F @

wfame fag am—
(3) 25000 T (@) 30,000 T
() 50000 X (€} 58000 T
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{,\..:.-‘. bm .v | s \
:: moo:ﬂ:\d fixed cost Fis. 10,000 then
Break-even point will be— |
(@) Rs. 25000 (b) Rs. 30,000

() Rs..50000  (d) Rs. 58000
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(W) HRT FBR G0
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Cost Auditor is appointed by :
(a) By Board of Directors

(b) By State Governmen!
(c) By Central Government

(d) None of the thesa
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Section 'B’
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Short Answer Type Questions 5x5=25
Fpr e @ Praerdl SR AT S Bife—
afffs Fam—4000 $HFAT

oy gor gEo—103

MT-710 Contd....



Price per unit—Rs. 10
Buying cost per order—Rs. 60
Storageandcamngcostasapercentagaof

Average Inventory—Rs. 3
Jyar
Or
TS S W awl # Hw aa e § de ¥

TqAEASe!
What do you understand by elements 6f cost?

Explain in brief.
T & 7 wE B e vE 3ERRn ||
qRETEA |

L/Et(plain matenal consumed with the help of an

Q.

exampie.
JYar
Or
JuRegat & amaeT @ s ¥ %2 s
Differentiate between allocation  and
apportionment of overheads,
: MT-710 P.T.0.

jh)ﬁn. - R . . -

onlineBU.com

etz & o A

T B o wEn —8

g H e & o —25

wfer a9 gro o QU —2

af & g —20 . (s aw /)
g B & —80 T
"M ardt A

FA AW — HEAT & 90%

-~ 0 P i i
+2""" From the foliowing information calculate total

kilomeire and total passenger kilcmetre.
- No. of buses —8 cOYI A
©  Days operated in the month —25 be
Trips made by each bus —2 X
Distance of route —20 km (one}@rC
Capacity of Bus —80 Passengérs

Namwnvemg —80% of capacity
MT-710 Contd....
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T faeo o3 & Y FAne|
Prepare the proforma of Reconciliation

Statement.

Frefofees goanlt & @w 7= aFme o
wrlawe g (o W) s Sifoe—

| year Il year
e Rs. 80000 Rs. 90000
oy As. 10000 Rs. 14000

Find out Profit Volume ratio and Break-Even
profit (in Rs.) from the following Information :

| year Il year
Sales Rs. 80000 Rs. 90000
Profit Rs. 10000 Rs. 14009.
s )
o Or
BT 3ibeT B ARV B FHHETh, -
gxp!gm the concept of Cost Audit.
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h idaximum usage — 15 units per week each

' Re-order quantity — "A"-60 units X wh = - 75000 X
"B"-100 units . wRedmfer sz = - 100000 2
Re-order period — “A" 2105 weeks fama - 600000 T
— “B"-2 to 4 weeks 1 I - 50000 g®wRGT
Calculate for each material | O amem @ s @ f5 i 2013 W—
(i) Re-order level (i) SBRIAT 100000 IHRAT T TS BHON|
(i) Minimum level ;
(i) Maximum level i)\l & g 332% @G sl
(iv) Average stock level
- . (iii) fEamsit & Fiwm @ = § gy ¥ RO
or oRadadta fowa &g @ & 259 & 11
ATE FraEE @ a3 87 T NG U AW i
@ Rga Piwel #2013 ¥ i goé Resy g @ afe

What is. Cost Accounting? Explain its objectives [\ ¥ trr arer wm <ar # 5 R w o & =

b
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Wseﬁngexpenses —83.200000

Fixed expenses — Rs. 75000
Sales — Rs. 600000
Total output —- 50000 units

It is anticipated that in 2013—
(i) Factory will produce 100000 units.

(1) Cost of material will increase by 33%—%

(i) Rate of variable selling expenses will go
up by 25% due 1o Increase 0 rate of

commission to salesmen.
if the same rate of profit on sale is 10 be

maintained at what it was in 2012, what should
be the selling price per unit in 2013.
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mi gogy ) T R @) [ g @2 W e
o) ¥ fr B @ aw ) REr e s
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e PW do you ascertain the following ratio and

what purpose do they serve.
Frgat
Or

IR J vs vam o B e o d@ 1
SFEd, 2013 @ 75000 WO ® d@ Hoed W
fean €N 3w waw 3 e ey R

SR ST - 25000 2
il - 35000 ¥
- way =g - 20000 2
BReR WA S A - 1000 ¥
T B - 10000

33T 30 . 2013 B G A T T L@ ey
oG B T B @ WO10% M X ¥ E
T e I B A 5 20% B W ¥
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_"(‘i'i erial consumed — Rs. 25000
" Wages — Rs. 35000,

7500 ¥t

Direct expenses — Rs. 20000
Plant purchased — Rs. 10000, e o & 15000 T 8000 T
Material in hand at end — Rs. 1000 AR L 10000 ¥ 8000 T
The contract was completed on 30 June 2013 . FRawT @ 5225 2 3855 T
and the contrac! price was duly receved. = T (ZTEEr §) 7000 6200
Provide depreciation @ 10% on plant and A product passes through two processes “M”
charge indirect expenses @ 20% on wages. and "N" before completion, From the following
Prepare Contract Accoumt in the bocks of information, prepare Process Accounts—
Xavier. YR N
R oRE Fun e ora @ e s mRon ¥ Normal wastage 10% 5%,
s & 59 3R B g i @ Y s
Why Is it usually necessary to reconcile the [Per 100 K ]g Rs. 20 Rs. 30
cost and Financial accounts? What are the Input of ma?éﬁais 2650 1oy
\}afn sources of differences, (Rs. 2 per Kg.] U a
Faa Other materiais Rs 15000 - 5 ggop
Or Direct wages Rs. 10070 Rs. 8000
v e A i @ o e #) B Factory expenses Rs. 52c0  Ps. 3855
o wiwar @ dar Hfe— Output in units) 7000 '6200
MT-710 PTO. . MT-710



(i) @™ N AT ,_': Maeuingmhaad-—nstOOperyear

() weloade famg iged @ v ) S0 |

(i) 60000 ¥ S T wd ¥ B R e -
(o 5 e #) ‘f{

ferr — Rs 20 o Za kS

wRedie fafht E — Rs 11 Ui 3 -

qRadavie fid TR — Rs. 3 o 30

Rer @ e — Rs. 54000 fead }

R fapo Wiem - Rs 252000 Wl Lo

Find out from the following data— G

(i) Profit volume ratio L9

(i) Break-gven point [in units & Rs.]

(iif)' Sales to earn proft Rs. 80000 per year [in
units & Rs.]
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